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Q2)- Lily has ¥ of a chocolate bar, and her friend gives her another %2
of a chocolate bar. How much chocolate does Lily have in total?

Q3)- Tom reads %1s of a book on Monday and %10 of the book on Tuesday.
How much of the book has Tom read in total?

Q4)- Anna mixes %s of a cup of red paint with % of a cup of blue paint.
How much paint does she have in total?

Q5)- John eats e of a pie and his sister eats Y/ of the same pie. How much
pie have they eaten together?
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ANSWER

j)‘|1%+31ZT+1067 = 15%23

Ans2)- Lily has "%24 of a chocolate bar in total.

Ans3)- Tom has read "%s of the book in total.

Ans4)- Anna has *Y40 of a cup of paint in total.

Ans5)- John and his sister have eaten 1742 of the pie in total.
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